
AX-FP15 

LABEL NO. 
C6498 
C6422 
R6854 756104 

V628215 912430 

I1983 912433 

B6238 912438 

S9292 

755858 

R6284 
912447 

D0194 919957 

P5012A 755012 

751092 
R6227 912453 

912455 PIN D.8 M6 L.26 
912456 

V600215 

V704815 912460 

912462 

P4847 912464 

V6401 912466 

D0194 919957 

P8631 

V700815 912459 

C3273 

D0163 756040 

M8336 

R6512 

S9244 912474 

V6279 

V7993A 912477 

ITEM NO. ITEM NO. DESCRIPTION 
756498 

COMMENT 
ASSEMBLY 
PART OF C6498 
PART OF C6498 
PART OF C6498 
PART OF C6498 
PART OF C6498 
ASSEMBLY 
PART OF I2061 
PART OF I2061 
PART OF I2061 
PART OF I2061 
ASSEMBLY 
PART OF B5077 
PART OF B5077 
PART OF B5077 
PART OF B5077 
PART OF B5077 
PART OF B5077 
PART OF B5077 
PART OF B5077 
ASSEMBLY 
PART OF S9292 
PART OF S9292 
PART OF S9292 
PART OF S9292 
PART OF S9292 
PART OF S9292 
PART OF S9292 

MODULE 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 

ASSEMBLY 
PART OF I3662 
PART OF I3662 
PART OF I3662 
PART OF I3662 
PART OF I3662 
PART OF I3662 
PART OF I3662 
ASSEMBLY 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 
PART OF I3663 

COVER ASS.CT35N-CT50N 
912427 COVER CT35N-CT50N 

WASHER 6,2X14X0,6 
S7628 
S9161 

912428 HINGE PIN 5X40 ZIG.INOX 
912429 COVER SUPPORT 

S/S SCREW TC AUT.U6951 5,5X16 
I2061 
I1947 

912431 CT35/50N ASSY HANDLE 
912432 CLOSING HANDLE CT35N/CT50N 

HANDLE CT35N-CT50N 
S7423 912434 CILINDRICAL PIN U1707 4X25 

912435 
750692 

HANDLING SUPPORT CT35N-CT50N 
ASSY KNIVES BODY FOR CT50N 

S9245 
L0692 
B5077 
B6234 

912436 DRIVING BLOCK CT50N 
912437 GUIDING BUSH CT50N 

BUSHING DU 14X16X20 
D5675 912439 KINFE SPACER CT35N 

750614 
750615 

KNIFE TOP, CT35N/CT50N 
KNIFE BOTTOM, CT35N/CT50N 

L0614 
L0615 
S7628 
V7011X 

912428 HINGE PIN 5X40 ZIG.INOX 
912441 S/STEEL SCREW FOR BLADES CT35N 
759292 ASSY KNIFE SUPPORT FOR CT50N 

A3106 
A5471 

912442 TRANSMISSION SHAFT CT50N 
912443 RING EL.SEEGER INT.32 

RING HOLDER 15,6 X 1,78 A5858 
C8021 912444 BEARING 2RS-6201 12X32X10 
D5795 912445 BEARING SPACER CT35N-CT50N 

912446 WASHER 26X32X0,5 
SHAFT PULLEY SUPPORT S9237 

B5056 912448 BLOCK CT35 
912449 
754819 

BUSHING SUPPORTO HANDLE CT35N 
BELT POLI V.480X10C 

B6237 
C4819 
C655880 912450 COVER MOTOR CT35N-CT50N"ETL" 

SPEC. NUT M10X0,75 

BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
BASEMENT AND KNIVES 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 
MOTOR AND ELECTRICAL PARTS 

G5040 
G8022 

912451 LOCKNUT M17X1 
758022 DRIVING SHAFT GASKET 

RUBBER FOOT TS8/12/22-INT-CUTTER 
P8041 
R1096 

912452 BLADE PULLEY 60HZ CT35 
ASSY FP50 POT 
WASHER 17,3X27,7X0,4 

R6924 
S759701 
T7004 

912454 SPECIAL NYLON WASHER CUTTER 35/50 

LID CAP HOPPER CT/FP35 
S/S SCREW U6113 M5X12 
SCREW U5929 5X10 
SCREW U5929 M6X8 
S/S SCREW TSP U6109 M4X12 
S/S SCREW TSPEI U5933 M6X20 
INDEX SCREW FOR CUTTER BOWL 
SWITCH PORTIONER 
SPEC. NUT M10X0,75 
SPACER FOR MICROSWITCH CT35N-50N 
SWITCH N.A.FAST.LATER. 
MICROSWITCH SUPPORT PLATE-CT35NCT50 
CUTTER MICRO-SWITCH PUSH-BUTTON 
WASHER U6592 5 
SCREW TE U5737 M5X10 
SWITCH PORTIONER 
U5588 M5 STAINLESS STEEL NUT 
SPEC. NUT M10X0,75 
SWITCH N.A.FAST.LATER. 
SPRING 15X1X17 CT35-50N 
CUTTER BOWL MICRO-SWITCH PUSHB. 
WASHER U6592 5 STAINLESS STEEL 
CUTTER MICRO-SW. SUPPORT 
S/S SCREW TSP U6109 M4X12 
S/S SCREW TSP 5X25 U6109 
RING EL.BENZING 5 
POWER CORD 2P+T 15A 125V 
CAPACITOR 50 MF 250V 
NUT U5589 M8 
NUT U5588 M6 
TOGGLE SWITCH SER.A4 
BULB 230V CAVI MM250 FASTON PI 
MOTOR EL.120/60 CT35N 
STRAIN RELIEF SR10/2 BLACK 
MOTOR PULLEY Ø18 CT35N/37N 
WASHER U6592 6 
PC BOARD 110/60 CT35N-50N 
CUTTER P.C.B. SUPPORT 
MOTOR FASTENER SUPPORT 
ENGINE BELT TIE ROD 
GRUB SCREW M6X6 
SCREW U5929 M6X20 
SCREW TBTC D7981 3,5X9,5 
SCREW TBTC3,5X9,5 STAINLESS ST 
SCREW TBTC U6954 2,9 X 9,5 
SCREW FOR ROD 6X13 

919943 
912476 

912457 
912458 
919652 
912459 

V6064 
V6067 
V700815 

V7988 912461 
I3662 
D0194 919957 

912463 
753708 

D5807 
I3708 

P8622 
R6508 

912465 
756100 

I3663 
D016015 

912467 
911601 

I3708 
M7102 

753708 
919956 
919955 

R6508X 
S9246 

919972 
912468 

V703015 
A5403 

912470 
756002 
756021 
912471 
756038 

C5842 
D0135 

I3701 
L1020 

753701 
912472 

P2008 
P8042 

758336 
756069 
758042 

S3232 
S9239 

752001 
753232 
912473 

T5022 
V6066 
V6069 

912475 
756127 
756128 
919635 

V6279X 
V6301 


